
Student Instructional Rating Survey :
.

https://sirs.ctaar.rutgers.edu/blue



S cool cool" Cactus " diagram W U

• u - represents all N = 10,368

#• identical terms

x
t w y

-m-an
< old dig)÷,

f- 5) a'tooolofdwooloofdu 10011001107
-

N of
"

different
" contractions that give this same expression

3 ! Interchange of t, w , a vertices

a. z placement of contractions into 2- vertex}
4. 3.2 placement of contractions into w verte

)
N= ' 9368

4. 3 placement of contractions into a vertex

1/2 Interchange of w Sie contractions



9
.
Draw diagram

2
.

But they w = ?

⇐ from e
' " ) x ( u ! permutations of vertices ) = ,

(Generic vertex - y ! ) x ( -
'¥

.

) = - in

=D associate C - it) with each vertex

This scheme : Na .to = n ! @ ! )
"

For cactus n
. Naoto = 3 ! C ? Is

Nacho , =
3 ! @ ? I

'

Naoto Naoto
- = - = -

2 . 2 . 2 8 S



For caches ! 5=8

S - symmetry factor of the diagram

1
.
L - from 2- loop 2

.
2 - from interchanging

L - from a loop Dfcw -u) propagators

3
. equivalence of 2 vertices



E-xawples.am#qs--zcEs--z.z.a--o
=3 S fit off

3

¥M. s =3 ! -_ 6

as 1⑦
-

A E.✓ •-•••

S =3 ! . 2 = 12



Diagram = propagators ( vertices / external pts
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